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| Semester B.Com. Examination, October/November 2012
(Semester New Syllabus) (2012 - 13 & Onwards)
COMMERCE '
1.4 : Market Behaviour and Cost Analysis

Time : 3Hours Max. Marks : 100
Instruction : Answer should be either exclusively in English.or exclusively
inKannada.
SECTION-A
I - R
1. Answerany 10sub-questions. Each question carries 2 marks. (2x10=20)

CIRTTOTIcR 10 eusBEren wwdon. e B2 Lodne.

a) Define law of supply.
TPTF VOV TR0 Ve

b) What is demand schedule ?
eiela8 63 D0TBeS> 2

c) State how a firm differs from an industry.
20030 #oﬁ@o:‘m Bert 20T FTROFoO0T PN,

d) What is meant by time value of money ?
TR TeOTS FIPY, 2000 LFFed 7

e} What.doyou mean by impilicit cost 7
Res3 ﬁzi DOVNIT STERER0 ?

f) State the meaning of Break-even point.
Re35e3e38 L0 0LIWT EF WICLD.

g) What is dual pricing method 7
Yool w'cé% QOTITER P

h} Whatis linear programming ?
DEACT® TP,ETVEVONT 0TI 9
P.T.O.

www.onlinebu.com


http://www.onlinebu.com

0S -298 2. - ST

i) Write the meaning of weighted average cost of capital.
RE0T, RODRD WP 2323 0B e 235000.

i) A project needs an investment of ¥ 44,00,000 with annual cash inflow of
¥ 2,20,000 for 25 years. Find pay back period.
2,073 o3Rexan T 44,00,000 Bt Beo 1383, Q00T w30&i T JNED LYTOY
gn. 2,20,000 25 ﬁ&ﬁ?‘ﬁﬁ;‘ 335 *’cé’cmbwm’omﬁd 33T WOTONSS @ﬁ@@b&
2oL ROND,

k) The eaming per equity share is ¥ 27 and its current market price is 7 180.
What is the cost of equity ?
& Be0R R 27 Ford APay 3608 Fthsil 3¢S T 180 5w APeR 3007 w2

1) Whatis penetration pricing ?

363 20T 7
SECTION-B
Dy
Answerany four questions. Each question carries 8 marks. (4% 8=32)

CIRYTHETR T, BIReR ¢u3on. B3 B8 wosrvo

2. Explain how weaith maximisation objective varies from profit maximisation
objective.
ROTR) TORRETE HOT3eBY ot3 WORNEE LVE3BROT Ber PIFONT 7 DO

3. What is total outlay method ? Determine price elasticity of demand from the
data given below adopting total outlay method.
2830, 3303 B3 IorsTeRd 9 23,328, WGewR) evTodpentdnomd wne wedd 1g

m@a@m DI OR.
Prlce Q'uantity Demand
WeRE S
(%) (in oo B SLEnIo)
A ¢ 900
10 : 6560
12 450
B 8 625
10 525
12 475
C 8 750
10 600
12 500
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4. From the under mentioned data determine trend values and estimate the demand
for 2013 and 2014 by method of least square.
7 ISRQVT WEECI0E T et [RBLANTR), FORHABOWD TonR2013
2014 Se SR et FaeasS) ﬁa*qﬁw‘ esF Den? %eof eaRRBR LI0TTLETOR.
Year (:3&F) 2007 2008 2009 2010 2011
Sales (s»uowd) (000) 120 140 145 170 200

5. Whatis meant by pricing policy ? Briefly explain the factors influencing pricing policy.
2325 Q08 orsBesy 7 BS Ded AP ORI DG 90BN odToN dTOR. -

6. From the data given below you are required to compute TVC, TF"C.,_ TC, AVC,
AFCand MC.
35008 BR&soon TVC, TFC, TC, AVC, AFC @oneMC ﬁ#sb ﬁoﬁ)?x@o&:ﬁ

Output (in units) 1 2 3 4 5 6 7 8

w@j (PreEndd)
AFC (%) - - - - - - Y
AC(®) 720 400 240 270 300 325 375
SECTION-C
T - R
Answerany three questions. Each question carries 16 marks.. (3%x16=48)

O3RFYTRETH TRTO BINeR YuZor. Fé HFri16 wosnsh. _
7. State and e-iplai_n types of elasticity of demand. Siate the established
advertisement cost and derived demad relationship.
el 8 T3 THTNTR), Wi QTOR TN 20&eT0E 5523 TRy waizab Zederdd
Nowoqﬂﬁféab adm&,?q
8. Write notes on the foliowing :
SSNSYY 207} eSTENYY 2050000
a) Targetrate pricing
rosess sy
b) Transfer pricing
BRI VS
¢) Dumping
BOQON®
d) Price leadership.
23e SR00TRVE,.
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10.

208 + MR O

The data given-below belongs to Shah and Co.
TPNS TS Tox® '&'b&) go. 1% NO&JO@NES@

Sales (units) Sroot (Fe3sred) 720,000

Fixed cost (%tﬁ_ eﬁaeg ¥ 56,000
Variable cost (2v@ooris ;3@ ¥1,20,000
Sales (@Bnoow) ¥ 2,40,000
Calculate (soefcod) :

i) P/V ratio, BEP and margin of safety
2/ T Bes, RReIeH Word, RITY 0L THwres

i) Sales to earn a profit 0fZ 90,000
¥ 90,000 coginexen snoets DR

iif) Profit when sales was< 5,00,000:
BR0ET 5,00,000 e5zn €03 asmes,

Afirm is considering the purchase of machine X forz 4,00,000. From the following

data compute

a) Payback petiod and

b) Net present value and suggest the firm.

v

WO B ONOGDJX o&:oa’sﬁab ¥ 4,00,000 3 s00edmen 1808823, 398018 Rnéadomoors
a) abd:ﬁep@ wd@am: @m

b) 5% ZRYS da‘ae%a_iaigt BoTEoBE3 :doa;ﬁ ROBOR Ve, -
Year 1 2 3 4 5

(==r)

Net cash inflow 40,000 1,20,000 1,60,000 2,40,000 1,60,000
RS ST LvEoey

Discount factor @ 10% 0.91 0.83 0.75 0.68 0.62

The scrap value of the machine at the end of 5 years will be ¥ 40,000.
0B 5 B Y ST sochzen 3eSz 40,000,
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